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Proposition: (a) ,fh—) is an open set

G(T) is a closed set ///
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(b) re p\T) - H (T - 7\> H a\ist( \

A,0(T))

(c)
c The map fk—r) —> $(X) > Locally, it can .be expressed

S as a Taylor series,

A — (T—- 7\31 is analytical;

Proof: Choose '/\oéftl—) and set C o —_ _2_:_
Let's take any 7\€<]: with ‘7\—7\ < .
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Neumann series: (I -~ 57 with “SH< 1 is invertible because

(I_s)-kZSK = (x-5s"") A N (1—531 = isk
g k=0

= T-A isinvertible =—=> Ac fKT) B fKT) is open (a)/
Mo (T-2)'= (T-5)(T-A) = 25" (T-2) o
= S-AJT-A)-(T-A) = Z(T—/\,S(k*f)(x-m'“
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